l T T T T I T T T I T YT TT17

* " Name:

AT

20000,

Name:

Name:

1

FAGT CHECK

Name:

COLOR BY

[loxe=__ o 2xl0=__[]
M 5x10=__ @ IxI0=__ H
BY T[] ¥y st
L1 Ax10=__ a 0x2=__ i
/—‘0'7\ 1 0x3=__ 6x10=__ [
@ H 0x0=__ IxI0=__ [
&.J [ 12x10=__ 0x8=__[]
20 1 10x1=__ 0x10=___H
. L" ............ — "_ b
« Name:

10x5

Name:

HIV/ERINEA

BINE

Spin the spinner using a pencil and paperclip and
t five in

Spin the spinner
then color the answer. Can you gef

aline?

q0 |10 |60 |20

40 ([20]100|20

6

S

30(20(10 /0

30

10

90110 160 140

20

0

Name:

000 0000000000000000000NQ0000

RO 000000000000 00000000 000

Q
X
¢lo

O]

O

000000000000 00000O000000O000O0000000000

G0 000000000000006600000000

 MULTIPL

Y and

SEARCH @

e —
CMUTIPLY BY 10 s

!0 10 100 6

o 8 [o] 1
. X

| 000|380
e 40 o

2010 60 50
0o 8 80 3
'1'so 10 4 80
o o ” 0
‘oo 7 10 30
‘150 70 % 6
‘'3 0 30

Ll —

Name:

o]
2
60

80

|
3

REPERTEDA

0 90 20
2 100
20 60 S
20 8 S0
H0 60 6
0 80 10
9 30 6
9 9 60
S 2 50
040 10
0 2 120

]
|
|
|
M ACIARS |”|
|
|
|
|
|
|
|
|
|

ox3=230]
6xlo=__|
I0x 2=
0x &=
7x10=
UxI0=
I0x5=
10x9=
0x 1=
0x12=
I0x10 =
3x10=

[0} [0} | 10 2 q
X 6| x 8 xI10 x 7] x10] x10

3 10 10 5 8 10
x10| xI10[ x 5[ xI10] x10] x O

OxU=

Name:

EMOYJT MYSTERY &
Color the answers in the grid to reveal a picture. You may find the answers more
40 |70 | SO | 10 | SO

than once

201 50| 10 [ 40| 70

0 [l20]SO|0|10]SO|I0|SO|SO]| IO

30 | S0 30

50

D 1oxl= ] 6xlo=[_]:
10x10=[ ] S 0x3=[ ]
ax10=[_] - 2x10=[_]:
oxu=[] " 1ox7=[_]:
13x10=[ ] lIxl0=[_]:




Write the missing number to
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